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UGA-229

B.A. (Part-1I) Examination, 2021
MATHEMATICS
Paper - 1II

(Differential Equations)

Time : 1% Hours | [ Maximum Marks : 66
Section—-A (Marks : 1 x 10 = 10)
Note .— Answer all fen questions (Answer limit 50 words). Each question carries

Note —

M —

1 mark.

(Tus—3) (3® : 1 x 10 = 10)
Tt T/ YAl % S SN (SW-EE 50 ) | ToE We 1 3 Wl B
Section-B (Marks : 4 x 5 = 20)

Answer all five questions. Each question has internal choice (Answer limit
200 words). Each question carries 4 marks.

(Tus-9) (3% : 4 x 5 = 20)
[t Ut el & SR T | T e § foehed T = A (IW-TH 200 ) |
TAF T 4 HF H T

Section—C (Marks : 12 x 3 = 36)
Answer any three questions out of five (Answer limit 500 words). Each
question carries 12 marks.

(@us—a) 37k : 12 x 3 = 36)
ﬁa%ﬁﬁfm'ﬁ?ﬂ?wﬁaﬁwﬁm(w—w 500 %) | TAF U 12 3T
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Section—A (@US-3)
1. (1) Find order and degree of a differential equation :

TR THIHIT i HifE TI =G A HINT

3/2
42 y { ( dyjz}
— < =1+ =
dx? dx

(ii))  Define linear differential equations.
e Teehel HIHTO hi TR iy |

(ii1))  Solve :

T HIST
O-p)@-D=p
(iv)  Solve :
TA HIfST
(D2 +5D +4)y=0 D=
dx

(v)  Define linear differential equation of Second Order.
fgda =ife & o awa THH &1 gy Sifsw )
(vi)  Solve :

TA HIfT

dx dy dz
x oy oz
(vii) Find the PDE by the elimination of the constant ¢ and b from :
z=ax + by + ab
z=ax + by + ab ¥ 3 g A b F o F AR STahe THIHIO T
RIS |
(viii) Solve :

T HIST

(ix) Solve :
A HIfST :
(D?-D?%z=0
(x)  Solve :
A HIST :

r—at=0
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2. Solve :

TA ST

Solve :

T HIT

3.  Solve :

TA ST

Solve :

T HIT

4.  Solve :

TA ST

Solve :

TA ST

5. Solve :

TA ST

BI-1237

2
d—y—cotxj—y—(l—cotx)y:ex sin x
x

dx

2

Section-B (@US-)

y—Xx

¥ :tan{x—

=x+y

& &

dx dx

Or (31a)

Oy (37d)

Or (31a)

(1+y2) dx = (tam_1 y—x)dy

I+xy)ydx+(1—-xy)xdy=0

(D2 +a2)y:secax

(D? —4D+4) y=e>* +sin2x
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Oy (31d)

Solve :
TA ST
dx
—=T7x+y=0
a Y
dy
— _2x-5y=0
a
6. Solve :
T HIT
pcos(x+y)+gsin(x+y)=z
Oy (37d)

Find the complete integral :
quf HARA [A HITT

g*y* = 2(z— px)
Section—C (@US-W)

Solve and examine for singular solution :

T wifse wd fafes ga w1 W wife
p3—4xyp+8yz=O

7.

Solve by the method of variation of parameters

e fo=ror fafe g &a wifsa
d2y 3

8.
dx? 1+¢*

9. Solve in series :

SO T I RINT
A-x2)y" —xy' +4y=0

10. Solve by Charpit method :

=ifte fafy ¥ s =ifs .
P+ Py=¢
11. Solve :
TA HIST
(D?-D'? -3D+3D") z = xy + 27
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